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QUESTION 1

Which of the following is the most likely reason to use a debugger in a production environment? 

A. Enhance performance 

B. Ensure data integrity 

C. Investigate error situations 

D. Test a program 

Correct Answer: C 

 

QUESTION 2

In which of the following examples will a dummy argument be passed? 

A. DCLA EXT ENTRY;DCL (X,Y) FIXED BIN;CALL A(X,Y); 

B. DCL A EXT ENTRY (FIXED, BINARY);DCL (X,Y) FIXED BIN;CALL A(X,Y); 

C. DCL A EXT ENTRY (FIXED BINARY);DCL (X,Y) FIXED BIN;CALL A(X,Y); 

D. PGM: PROC OPTIONS(MAIN);DCL (X,Y) FIXED BIN;CALL C (X,Y); 

E. PROC (A,B);DCL (A,B) BIN FIXED;END C;END PGM; 

Correct Answer: B 

 

QUESTION 3

What will be printed after the following statements? 

DCL S CHAR(10); 

S = `0\\'; 

S = S + 1; 

PUT(S); 

A. `1\\' followed by 9 blanks 

B. 8 blanks followed by `1 `followed by a blank 

C. 9 blanks followed by `1\\' 

D. 10 blanks 

Correct Answer: D 
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QUESTION 4

Which of the following declarations is NOT accepted by the compiler? 

A. DCL A (3,3) FLOAT DEC (16) INIT ((3)(3)1); 

B. DCL B (3,3) FLOAT DEC (16) INIT ((3)(1), (2)(1,1,1)); 

C. DCL C (3,3) FLOAT DEC (16) INIT ((9)1); 

D. DCL D (3,3) FLOAT DEC (16) INIT ((*)1); 

Correct Answer: A 

 

QUESTION 5

What characterizes the relational model with respect to data storage? 

A. Data is stored in variable length and format. 

B. Data is stored in tables. 

C. Data is stored in segments. 

D. Data is stored in hierarchies. 

Correct Answer: B 
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